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AVG STD N |AVG STD N |JAVG STD N |AVG STD N
19.1 050 29 203 043 5 |195 045 5 |200 033 3
19.7 0.81 105 [20.2 0.95 434 [20.1 0.93 39 [20.1 0.73 141
19.6 0.80 84 [20.4 0.84 379 |19.8 0.97 20 [20.0 0.78 136
20.6 0.74 109 [21.1 0.81 217 |19.4 025 2 |20.7 094 137
AVG STD N
AVG N | AVG N|AVG N |AVG N
11| 21.0 296 | 21.3 298 | 21.2 28 | 21.4 14 771
10| 19.4 409 | 195 367 | 19.4 74 | 203 25 88.7
9 | 192 38| 184 163| 192 98 | 203 17 90.8
8 | 100 397| 186 235| 19.1 240 | 19.3 35 92.1
7 | 184 357 | 182 137| 185 227|194 12 90.2
6 | 200 459 | 19.7 200| 20.3 178|201 12 84.2
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18 r 0-0-0 185 19.7 19.1
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15 aee 0-2-0 192 19.0 18.9
866 960 1015 1090 1205 R 0-0-0 19.0 19.4 19.2
—_
2-0-2 19.1 18.9 19.2
H11
) 6 /10a /10a
40
100m 100m
o H6 H6 [19 81 47 1000.8
AH7 19 19 53 (115%)
19 73 25 856.5
19 27 75 (98%)
H6 51  .H7 57
0 100 200 300




